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Fz=

OFIRAILIB0RMERZ iR, iRAILIEY Mrald. (B— 1 ItETRA0)

empty =[] HZSZR

list]l = ['Google', 'Runoob', 1997, 2000]

list2=101,2,3,4,5,6, 7]

print ("list1[0]: ", list1[0]) #>>list1[0]: Google

list1[2] = 2001 #HEB T FIRF Mr/2HITTE.
a=?2

print ("EFRAVE=1ITESD ", listl[a)]) HZE RS TR

#>>BFfEINE=1JTE& /9 : 2001




Fz=

® Hin FIEFFIRESEEENTTR
Ist =[1,2,3,"4",5]

print(4 in Ist,3 in Ist,"4" in Ist)  #>>False True True




for B MED]

OBy, FEEEZXHT—FRINET, RLFEEINES.

for <variable> in <sequence>:

<statements>

O IR XT sequence FEVENME, BT <statements>
®sequence A]LARrange(..), WAILARFRFER. FI%EK. jThH. FB, &£E,




for{&IMEa)

for i in range(5): #[0, 5) 0 |for i in range(0, 10, 3) : #2513 0
print (i) | print (1) 3
2 6
3 9
4
for i in range(b,9) : #[5,9) H for i in range(-10, —-100, -30): -10
print (i) 6 print (i) ~4(
7 —=31)
8




for{&IMEa)

for i in range(0) :
print (i)

For

for i in range(2,2):
print (i)

Foh




forf§EMBhYIZE - 5iXl

a = [ Google’, 'Baidu’, "IBM', 'Taobao, "QQ’]
for i in range(len(a)): # len, kKF|FXEKE (FTEITZED)
print (i, alil)

0 Google
1 Baidu
2 1BM

3 Taobao

4 QQ

lentBEJLARSERFHERKE, 7TH, &5, FHITEDH
print(len("abc")) #H>>3




forf§MEh%E - 5iA2

a = [ Google’, 'Baidu’, 'IBM’, ’Taobao , 'QQ ]
fer 1 in a:
print (i)

Google
Baidu
IBM

Taobao

QQ




for letter in ’ Taobao :
print (letter)
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whilefEIMET)

while ZHERIANexp:
iEA)H

Ja 8 A AR
(1) : Fl#hexp EEHAE, AR, % (2) , AR, % (3) .

(2) : FMTIEGAR, ABREEI (1) .
(3) : PUTIRECEAME(,

;IJEJ%E?E%ZY%Z: SIRAFNEERIAHIFRTIREET, BILAGERS while 838, BEIRERETFH

FIFIXENRYEA : SEFARIFUTRURTENFAFHIEERT, while EAIFEER.




whilefEIMET)

1+2+3+...+n>=50 ?

count = 0
summ =
while summ < 50:

count = count + 1

summ += count

print (" M 1037, count, oy
print ("M1H0E]”, count, "HIF KT

_3:‘ ”’ :
T o0

summ)

)
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—t = D 0O =] O U1 H LoD =

o O

FOE L |
I+ 3
FIMZET 6
PIAZE+ 10
HIFIZEF 15
HIFMZE T+ 21
HI A2+ 28
HIFIZE T 36
H) A2+ 45
FIMZ+ 55
AR F 4150



RTINS

= i =t (iasut())
) total = 0 )
e/, RSt MEEORL, for i in range(n): # ¥ nik
R ‘ num = int (input())# FXKIFEA—NE, FEnun
IS | total += num # numZB n#total
S TEESn. EEENT, ST, print (total)
Tl 5
AHisn N EERHEOA,
=20l
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g2 : Ex/IMB

REA REAIE T PNGIE S i
n = nt(lnput())
St n KD n AR, X n AR R MERH A, # RN ER BB HE NT|Ra
a = list(map(int, 1npuﬁ§¥ispﬂlﬁggz)

A ; minn = 1005 # R m/ME 1005
AR o s b v 4
—ATRN—ANTFR n, FTEEAE, BTN n AR, USSR it alil < minn: # 41 Hl iy i 552 7))
S—1THRIN & n, TTATTEL. T8N JETRERRY, LASHERRTT. ( ]]]]_1)’11’] = a[ﬂ # %I—S/;/IQ‘I‘ -&ﬁjjﬂf‘fj\ﬁ

. print (minn
a HAET
aH—MEES, FuX n MNEREHSNE/IME,
=20l
EINEE 1 T HEE 1
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